EARAROBEEIERT — 2 N— IBISH —F

2012878180 (k) 3mEEFI3H

Bl >5—#% c3-=m

‘ (%] 8 ‘ [EsmEl  — | & (B) 14000 &

[AE4] 1 7% :800,000 F 2 3 :240,000 M

/37 :136,000 H ~ 4 3&:104,000  ~ 5 & :80,000 M

B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— 5 BEHB :31. —3-2- . — FEARE GEF)
i lglio| 7—n7re22 it 4 oS 1(3_1)6 3-3-2-1 | 39.2 1 ;1+373; %J'—réﬁ
X073 BFLY—H— B 045
0 = s :32. —4-4- . - FILES (GEFn)
2 o | By y—= i 4 s 1(342)4 4-4-4-3 | 39.2 4 (4_313) B
R:TTv I 8% —F BixN—%yFI— =E IE—
N . . KEFEE : -0-1- - JEH—RI GaFn)
3 3| 2FY—Khx> o4 ZER 1(73%,:? rele 1402 ? ::g) SHEES
R:TTvr8%Y—F B:hxriavo—x ERr &
P1) oY 57— s o7 | AEE 1:33.4 5-5-5-5 |40.0| — 8 486 | KRS GAAN)
41819 |A7 Vw7 54.0 (5) (+3) | _B) =hssn
R:7y3I5—L B:SXhR—%— =HH5
- B4 | WIEE 1:33.4 1-1-3-4 | 40.7| -— 3 450 | PEARIER (BN
5/7|g| 17/ TIV=FK 54.0 (74%) () | AL
L:TLyvIAHT B:Tav /IR Pk a3
P L s 4 | EARE 1:33.5 9-10-9-6 |38.6| — 10 | 458 |/MB—EB (#%N)
6|1|1|BTTITN> 54.0 @/ Cy | BEFEX
R:gvZ2vy3aAS BihAvE2 BET T — L
N . [ A : ~7-6- - EMEE (GEF)
715 5| VS—2€0 H 5 e 1.(3233.9 7-7-6-7 | 39.7 6 3723) aom
:7IhtEy b B:OaZHFTY E:sbae]
L e 44 | RIAR 1:34.1 8-8-8-8 |39.5| — 9 414 | RER= GEF)
EH 6| hv7Ta—- 56.0 ) (+4) | (B 340
R:wNygHT7r B:iA71—-d-— BLEKS
- 43 4 5 | DNEEFNIE 1:34.5 6-6-7-9 |40.2| — 5 452 | NIBE (AEF)
9|7|7|N=AIAYAI 54.0 @ Oy | w0 27—z rEvay
A —JIhT BikKRII SIS
= B I o4 | BATHERL 1:34.7 10-9-10-10 | 39.8 | — 7 466 | HOF (AEF)
Eﬂ 4| Fr=F 0T 9T _ 56.0 (" 1/2) 4o | B) Bl
L:a=—/xLlLy b BTy TR N=4 Ellike
® 1—F—@EBIERL
1T=7r= 8,3,10,2,9,7,5,6,1,4
2a=5"= 8,3,10,2,9,7,5,6,4,1
Ja=5= 3,10,8,2,9,5,7,6,1,4
43—+ — 10,3,2,8,9,1,5,6,7,4
[ /N
B 10 160 714K 2-10 350 e E 2-8 790 JEE 2-3-10 1,020
B B 10 110H 3-10 240M e B 8-2 680M JEE 10-2-3 4,630
2 180H4 2-3 680 B & 2-10 820M
8 1609 B H 10-2 1,220M

ABICOVWTRDTEEERROODE. TR LIV,




